## Transfers Report

This report contains the transfers results.

Ward 11 - Kirkcaldy Central

Valid Votes
Positions to be Filled
Quota

4,564 3

1,142

## Stage 1

Candidate Name	Affiliation		No. of Ballot Papers
Blair ALLAN	Scottish National Party (SNP)		1,005
Alistair CAMERON	Scottish Labour Party		984
Graham DUNCAN	Scottish Conservative and Unionist		619
Judy HAMILTON	Scottish Labour Party		915
Zoe HISBENT	Scottish National Party (SNP)		723
Tao Jack Alexander Ruaridh MACLEOD	Scottish Greens - Think Global Act Local		203
Karen UTTING	Scottish Liberal Democrats		115
		Total	4,564

# Transfers Report

This report contains the transfers results.

# Stage 2 - Exclusion of Karen UTTING

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Blair ALLAN	5	1.00000	5.00000
Transfer to Alistair CAMERON	20	1.00000	20.00000
Transfer to Graham DUNCAN	23	1.00000	23.00000
Transfer to Judy HAMILTON	23	1.00000	23.00000
Transfer to Zoe HISBENT	2	1.00000	2.00000
Transfer to Tao Jack Alexander Ruaridh MACLEOD	21	1.00000	21.00000
No further preference	21	1.00000	21.00000
Not transferred due to rounding			0.00000
	Total		115.00000

## Transfers Report

This report contains the transfers results.

#### Stage 3 - Exclusion of Tao Jack Alexander Ruaridh MACLEOD

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Blair ALLAN	37	1.00000	37.00000
Transfer to Alistair CAMERON	26	1.00000	26.00000
Transfer to Graham DUNCAN	10	1.00000	10.00000
Transfer to Judy HAMILTON	39	1.00000	39.00000
Transfer to Zoe HISBENT	75	1.00000	75.00000
No further preference	37	1.00000	37.00000
Not transferred due to rounding			0.00000
	Total		224.00000

## Transfers Report

This report contains the transfers results.

## Stage 4 - Exclusion of Graham DUNCAN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Blair ALLAN	17	1.00000	17.00000
Transfer to Alistair CAMERON	156	1.00000	156.00000
Transfer to Judy HAMILTON	181	1.00000	181.00000
Transfer to Zoe HISBENT	9	1.00000	9.00000
No further preference	289	1.00000	289.00000
Not transferred due to rounding			0.00000
	Total		652.00000

## Transfers Report

This report contains the transfers results.

## Stage 5 - Surplus of Alistair CAMERON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Blair ALLAN	142	0.03709	5.26678
Transfer to Zoe HISBENT	110	0.03709	4.07990
No further preference	934	0.03709	34.64206
Not transferred due to rounding			0.01126
	Total		44.00000

# Transfers Report

This report contains the transfers results.

# Stage 6 - Surplus of Judy HAMILTON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Blair ALLAN	122	0.01381	1.68482
Transfer to Zoe HISBENT	179	0.01381	2.47199
No further preference	857	0.01381	11.83517
Not transferred due to rounding			0.00802
	Total		16.00000

# Transfers Report

This report contains the transfers results.

## Stage 7 - Exclusion of Zoe HISBENT

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Blair ALLAN	725	1.00000	725.00000
Transfer to Blair ALLAN	77	0.03709	2.85593
Transfer to Blair ALLAN	109	0.01381	1.50529
No further preference	84	1.00000	84.00000
No further preference	33	0.03709	1.22397
No further preference	70	0.01381	0.96670
Not transferred due to rounding			0.00000
	Total		815.55189